EARAROBREBRT —5 XN—ZXBISH—F

202149488 (k) 11@P93I5H

M 3w EC4—2 C4 UYSH—R EEENE T T
[xE&] 1% :300,000H  2&:84,000H 3% :63,000H ./ 43%&:42,000M . 53&:21,000 3
& % B FRERS /M HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
05, 4~ alllE 214, - . - KINFE (LmaE)
1179 | FI/BREYIY 38 1(1_4)4 A A 1 fff) et
R:ALVYITSwoel B:IUVFIRNILVH— ML AR
=0 oSH Nl e 4 3 BH¥E 1:14.7 1-1 39.7 = 2 46 | EAARER (Jbss)
2 6 TAI—L—2 54.0 (1172 ¢e) | B KETF—L
RINZ—N\DYR B:T7ARNL—Y TEREREHS
WA — N — B3| At 1:15.0 5-6 38.6| — 6 | 444 |BEHRAM (UEE)
31811 NYITHZIZY 56.0 (1172 w) |BLEBN
RS20V~ #:AYSFIOU7 HE By¥
W 4t 3 | PIEBEE 1:15.0 3-3 39.1 — 5 454 [ EARHE GUEE)
4155 |YY 540" 1) 2 WORET
R:AVTVTIV—RY 8B:TU—KJaT)L HERIS
=_—5"1 ) % 3 BEXK 1:15.4 2-2 40.0 - 7 432 | /N\EET (JbsE)
5/8l10| T=E—TVYwY 54.0 Q) 4y |SHE
R:grvs/o7o4 g:IUN=NLY JUFPT7—1
q 4 INEFRS 1:15.9 7-7 38.8 = 10 430 |/MEBFE (Jbss)
6 4% VIRA T4 Y— 45 54.0 2172 w) |BET =
RiR—ANK B:FTva7 AERXIY K
= EBE_ :16. - . - BRBE (tEE)
; 3| F335-%5 3| B8 1 (116) 1 44 | 40.0 4 (431) meos &
RiAAY3OR—5— B To—ILR AN
— o s LIALEZR] : - - JISHA dtisE)
8 7 2F4—)LET— 4 4 540 1(.11/62.)2 8-8 39.1 9 (4::36) i
R:I9=Z/FLhLy b B:FU—UH—)b # BE
—~3 =5 s 4 | BAIE 1:16.4 10-9 37.2| - 3 460 |FRLEER dLiEE)
9l7|8 | PNZ=VVILIS 54.0 3/ 4o | THAET
RNV vH—=)b B:vIZrIatyb TREBUS
Sy N EEEE :18. - . - BOREE duss)
10 2 e INATSUF 4t 6 50 1(18%0 9-10 39.1 1 (4+8(3 kﬁ;? 18
R:ITSVIIFI—R BiYvINAF—TR mE EE
S 4 o6 | T 1:18.0 10-11  |38.6| — 8 | 540 |fEEEHES (LiGE)
M1 1F9/8U7H 56.0 F9) 2) | PUEEER
R:OV1IZI7—R B:RAF4T7HE— BIEHS
® 11— —&BIEfI
13—7—
20—F—
30—7— 6,10,5,3,11,9,4,7,2,(1,8)
451—rh— 6,10,5,3,9,11,4,7,8,2,1
0 ILRE
B s 9 70| | 94 & 6-9 1404 e B 6-7 2004 3EE 6-9-11 6204
B B 9 1009 9-11 330 5 E 6-9 1904 3EH 9-6-11 1,700
6 1109 6-11 440M B8 9-6 3309
11 180F4

ABIC OV TRUTEREERRODDZE. THRIIZEL.




